LINEAR LAW

4 (i) gradient=- Bl Bl for gradient
y'=-2secx+c M1 M1 for correct attempt to link y* and
leading to y* = —2sec x + 6.4 sec x
Al
(3]
5
(i) wheny=2,cosx= — DMI1 DM1 for attempt to solve their equation
6 Al using y =2
(2]
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1  Gradient -2 Bl
y intercept 15 Bl
2 =2 415 M1
x
y=-2x" +15x* Al [4]
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8 (i) and (ii) Gradient=-0.5 M1 M1 for attempt at gradient
Use of ratiosorlny=-0.5Inx +¢ M1 M1 for attempt at y intercept
Iny=6.8 Al Al forlny=6.8
Iny=blnx+In4 Bl Blforlny=blnx+In4
A = gltheir6s) M1 M1 for use of e
A=898, b=-0.5 Al,Al | Al ford4and Al forb
(7]
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. 1 BIM1 | B1 for gradient, M1 for use of straight
6 @O lgy-3= g(x—S) Al line equation
. 1 1
(ii) Either b=— Bl Bl for b=—
5 5
(1)
y=10% 7, M1 M1 for use of powers of 10 correctly to
1 obtain a
=10°10°
a=100 Al Al fora
(6]
Or lgy=Iga+1gl0™ Ml M1 for use of logarithms correctly to
lgy=lga+bx, lga=2 obtain @
a=100 Al Al fora
1
b= 5 Bl Bl for b =%
Or 10° = a(lO)Sb M1 M1 for simultaneous equations involving
f10
10° =a(10)" powers o
b=%,a=100 Bl, Al Blforb=%,Alfora=lOO

0606/12/M/J/11




JIU ni L]
7 G) | m=25 Bl
c=2 B1
lgy=2.5lgx+2 Ml
2=1gl00 or Ig10” B1v
2.5lgx =g x** B1v
y =100 x> Al
(ii) | Solve 2.51gx = 1g3 or x** =3 correctly Ml
1.55 Al (8]
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3 (i) Gradientm=4 B1
lge=-0.6 Ml M1 for a valid attempt to obtain Igc
Ml M1 for attempt to deal with lge
¢=0.251 Al
(4]
(i) N =0.251" VB1 VB1 on their m and ¢
(1]
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5 () y'=m2+c M1 M1 for use of straight line equation as
given
81=80+c M1 M1 for use of (16, 81)
c=1
¥ =5 (2x ) +1 Al Al — do not allow if subsequent incorrect
work is seen
(i) 36= 5(2" ) +1 Ml M1 substitution of y = 6 into their
equation in terms of »”and 2*
leading to 7=2" DM1 | DMI for correct solution of equation of
the form 2" =k
x=281 Al

6]
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(i) Gradient= -
y intercept = 5§
Y- 2x+5
x
y=-2x*+5x

(i) x=7
y=-63

Bl
Bl

M1
AlY

Bl
Bl

(6]

0606/23/0/N/11




